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1.1. Ten-year averages (1981-91) for a ground-water inventory for the San Fernando 

Basin are as follows: Recharge from precipitation and other sources, 79.3x106 m3, Recharge from injection wells, 38x106 m3, ground water inflow, 1.01x106 m3, ground water pumping, 120.55x106 m3, ground water outflow, 0.521x106 m3, and base flow to streams 3.8x106 m3. Calculate ground water storage change based on the ten-year averages.  

Solution: 

From equation (1.4), the ground water storage change is 

 
(S RN + Qi -  Qo - Qp  




(79.3106 79.3106 ) 1.01106 0 (0.521106 3.8 106 ) 120.55 106  6.561106 m3
